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import sys

sys.path.append("statlib")

from multi import oresen

oresen(x, y, verbose=True)
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x = [1, 2, , 6, 6.1, 4, 5, 7, 8, 9, 10]
= [2.3, 4.1, 6.4, 12, 12.3, 7.8, 9.7, 14.4, 17.7, 21.5, 24.1]



import sys
sys.path.append("statlib™)
from multi import oresen

a = oresen(x, Vy)

REFAHM = 0.73038

REEEE = ( 5.8519, 11.336 )
YIF = 0.50998, fHE = 1.85
Y1k = -6.7617, fAE = 3.0926

import matplotlib.pyplot as plt
import numpy as np

plt.scatter(x, y, c="black", s=16)

X2 = np.array([np.amin(x), np.amax(x)])

y2 = a["interceptl"]+a["slopel"]*x2
plt.plot(x2, y2, linewidth=0.5, color="red")
y2 = a["intercept2"]+a["slope2"]*x2
plt.plot(x2, y2, linewidth=0.5, color="black")
plt.xlabel ("x")

plt.ylabel ("y")

25 -

20 A

15 1

>>10_




